
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

four fractions,decimals, order of operations with
brackets

2.8 × 12 ÷ 4 − 2( − 5.1) =
4
3

12( + 4.8) ÷ 3 × 5 + =
2
3

4
3

× 10 ÷ 5 − 2( + 2.4) =
3
2

5
3

× 12 ÷ 4 + 3(5.1 − 5.3) =
5
2

( + ) × 3 + 4.3 =
3
1

2
1

3.3 + 3( + 4.5) =
4
3

× 8 ÷ 4 + 3( + ) =
3
1

4
1

4
1

× 20 ÷ 4 − 4(2.2 + ) =
2
1

2
1

( + 3.2) × 3 + 4 =
2
3

× 10 ÷ 5 + 4(4.1 + 3.5) =
5
1

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

four fractions,decimals, order of operations with
brackets

2.8 × 12 ÷ 4 − 2( − 5.1) = = 17
4
3

10
171

10
1

12( + 4.8) ÷ 3 × 5 + = = 126
2
3

4
3

4
507

4
3

× 10 ÷ 5 − 2( + 2.4) = (− ) = (−4 )
3
2

5
3

3
14

3
2

× 12 ÷ 4 + 3(5.1 − 5.3) =
5
2

5
3

( + ) × 3 + 4.3 = = 6
3
1

2
1

5
34

5
4

3.3 + 3( + 4.5) = = 19
4
3

20
381

20
1

× 8 ÷ 4 + 3( + ) = = 2
3
1

4
1

4
1

6
13

6
1

× 20 ÷ 4 − 4(2.2 + ) = (− ) = (−8 )
2
1

2
1

10
83

10
3

( + 3.2) × 3 + 4 = = 18
2
3

10
181

10
1

× 10 ÷ 5 + 4(4.1 + 3.5) = = 30
5
1

5
154

5
4

www.snowmath.com

https://www.snowmath.com

